—

[y

esl 0 |
?I'.hsm:;:n in the Agure is in equilibrium. If the tension in string 2 is 20 N, what s the mass
e sy

2
M? (Consider g=10 m/'s )

1. 02.0kg
2. 04.0kp
3. 06.0kg
4. 08.0kg
5. 010.0kg
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Question 4/ 10

A ball Is tied to the end of a cable of negligible mass. The ball is spun in a horizontal circle
with a radins 2.0 m making 11.0 revolutions every 10.0 seconds, What is the magoitude of

the acceleration (in ualits of m/s>) of the ball?

2.
3.
4.
)

07.1

019.7
03R.7
064.0
095.5

00:51:57
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Question 3/ 10

Two blocks are connected by a string (hut goes over a Hght frictionless pulley as shown ia
the figure. Block A has a mass of 3.0 kg and can slide over a rough plane Iaclied 30,0° lo
(ke horizoutal. The coefMicient of kinetic friction between block A and the plase Is 0.4, Block

B has a mass of 3.0 kg. 'Wﬁ:l is the acceleratlon (in units nl'mul]l af the blocks? (Consider
g-10 m/s’) 4 |
00.8

039

CS54

06.3
o7.1

FAN oLk N e

CamScanner = Ligs d>guwadll



Qmoatian 1/ 10

A 9.0 kg block rests om a 30.0° imcline as shows i the fOgure. Il the coeMcienat of stalic
friction beiween the block and the incline s 0.7, what ks the maximum possihic magnitwde of

the force F thal allow the block to remats stationury? (Consider g—10 um!'}
0332N e

O55.3N

0774 N

QUD.6 N

Ol121.7N

CERl S
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Question 6/10 L

A sn:'mtl car with mass 2.3 kg travels at constant speed on (he Inside of a track that is a
vertical circle of radius 5.0 m, If the normal force exerted by the irack on the car when it is

at the top of the track (point B) is 6.0 N, what Is the mormal force on the car whea It is at the

bottom of the track (point A)? (Consider g=10 mfsz) ,
022.0N i
032.0N '
0420N

0520N | !

0620N .

W R

. - p...-rl--"'-'-._-'
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Question 5/ 10 )
A pliot drops a package from a plane flying horizontally at a constant speed. Neglecting alr
resistance, when the package hits the grouad llle horizontal location of the plane will
Obe behind the package.

Obe over the package. .
Obe in front of the package.

. Odepend of the speed of the plane when the puckage wWas releaseti

P e

R
! . £
' T et ﬂ-‘!
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Question 8/ 10

The figure shows a 100 kg block belog released from rest from a beight of 1.0 m. It then
takes it 1.50 seconds (o reach the floor. What is (he m:l:n m of the other block? The plllry

has no appreciable mass or friction. (Coasider g 10 m.-’! )

1. Oll.l1ke (4
2. 042.0kg
3. 060.4 kg
4. 078.8 kg
5. 083.7kg
R p—
A o |
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7/10

i o |0 a vertical circle (R = 1.6 m), 45
> mass attached to the end of a string ’_m:gil:f h iﬂn:min. What is the magnitude of
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estion 2 / 10

P L .

| F A, B and C attached to each other and have equal masilﬁm.-ﬁ'r‘f'l I

&

jects are pulled vertically upward with force F=3 N. The acceleration (in m's e

.










_.5/10 &

-

In the figure shovwn il the angle between the celeration (a= § 4o < ) and the radins (B=34

) = (B o0 ) Fmd the speed (inm sy of the particle shown.

. 2 i 1 L5

= ~ 53] !

" I_ —p i |

i - = = !
: 7 |

i ~ 1871 :

= gl i -

W ey




Dol b s SR b P e S
' 453 4 997 8 9 i

00 :57: 52
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Question 8 / 10

A block is pushed across a horizontal surface hy the force shown. If the coefficient
friction between the block and the surl‘ace is 0.10, F = 20 N,8, = 30°, amlM’ &ﬁ 1

magnitude of the acceleration (in mfs ) of the block is: (Use g=98 mfl’z)
c4.5
€38
©31.2
2.5
18

D w1 =

1,11:

i’* !i
'l* "1-..-

i
[ b Vs ] .
I L Tl
rl| -
i



Cuestion ¥ 10
For the conical pendulum shown if m=80 kg, 6=40° and its lengthis 10 m. The speed (in

=

m's) of mis: (Use g=95m g ) |
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